= AH O
N = 0 &8 AF S & Al A
2009 & 20A XA EE S H
EAM: R 4=2H
. oMU LHFTHI S HU (R EL XN GMNL/+=XHA)
S YU SAS XSS EB(X=AISSLIAH) (&2 &)
o _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
XI4=8kTH 26,100,000 24,207,000 1,893,000
= 4,705,000
< 21,395,000
SIM I LHAFTHINGAZHH(ZEL XN IS /XH) 26,100,000 24,207,000 1,893,000
=2 4,705,000
[== 21,395,000
ol YSRGS E (XA EL S H) 15,220,000 13,327,000 1,893,000
MAECIGHE A =& 1,806,800 2,007,200 /200,400
401 AIEHIZLEOHHI 1,806,800 2,007,200 200,400
01 Al&HI 1,800,000 2,000,000 200,000
212 X AFE AH I 1,200,000
OstaI|I2HE = 1,200,000
OE X0l 600,000
OSIEEAANREX B4t 600,000
03 Al&=20id] 6,800 7,200 A400
OstdJ | 2H &4 5,000
Lot HY EXN B &t 1,800
SIMAIEF AR REL 11,274,939 8,920,000 2,354,939
308 XIXISHHMSOIE 7,274,939 6,150,000 1,124,939
02 ALxne 7,274,939 6,150,000 1,124,939
O'OECotdANESs AU ES2
11,193,000, 000 *50% 5,596,500
O'08E CotEAIZR2ALNES 1,678,439
403 NXISHMEX=01H 4,000,000 2,770,000 1,230,000
01 XXSHIEEX 4,000,000 2,770,000 1,230,000
YL ESIE I E AL 4,000,000
SIEAE SR 2L 1,994,452 2,312,741 N318,289
308 AHXIEHXISOIH 434,452 512,741 NT78,289
01 XXSHAAEXZ 434,452 512,741 NT78,289
CotE 2 A E P01 24| (76Y)
1,448,172 ,0002 *30% 434,452
408 XXISMS K20l 1,560,000 1,800,000 240,000
01 XXSHHIA2EX 1,560,000 1,800,000 A 240,000
OIS ML =2HUAIS 1,560,000
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SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl ko HRE2
ot 2t gR A 143,809 87,059 56,750
201 BH2EH] 17,500 17,500 0
01 AtS2cldl 17,500 17,500 0
mETETE=Y] 2,500
OstE B NLEAENE RS 2,500
mEX-Pa=! 5,000
OstHBaA+YS 5,000
202 O4Hl 18,000 18,000 0
01 =LHAHI 18,000 18,000 0
DX +A 2 SE| HYRER 0l 18,000
203 YSRF&H| 5,000 5,000 0
03 AIMFAHR =AY 5,000 5,000 0
OX4ASSEE YRS 5,000
308 XHXIEHHISOIF 14,000 0 14,000
01 NXHMILEXS 14,000 0 14,000
DS EHUASENSANGESSS2AES
== 14,000
801 OlldIbI 89,309 46,559 42,750
01 oldlsl 89,309 46,559 42,750
mi TR 89,309
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= 4,705,000
= 6,175,000
I EH=HASHU AL 7,877,000 7,877,000 0
= 1,705,000
& 6,172,000
403 XXISMS K201 7,877,000 7,877,000 0
2 1,705,000
= 6,172,000
01 XXIEHX2EX 7,877,000 7,877,000 0
DIEY=HXN S Z ALY 7,877,000
= 1,705,000
= 6,172,000
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AAHFHX S FH AL 3,000,000 3,000,000
= 3,000,000
403 XXM SA=0lH 3,000,000 3,000,000
2 3,000,000
01 XXESHI=2EX 3,000,000 3,000,000
O HF=HT S E Y ALY 3,000,000
= 3,000,000
FESED =L TP IS 3,000 3,000
202 Oddl 3,000 3,000
01 =Uhoit] 3,000 3,000
BEEPEE RPN EES L] 3,000




